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QUESTION 1

An administrator wants to utilize Network Visualization to monitor the physical and logical network on the Nutanix
cluster. The first-hop switch has LLDP enabled. The network switch information is still not being displayed. 

What is causing this problem? 

A. The ISL between switches is not configured. 

B. SNMP is not configured properly. 

C. br0 and br1 are not defined. 

D. The cluster is using RDMA-enabled NICs. 

Correct Answer: B 

ref: https://portal.nutanix.com/page/documents/details?targetId=Web-Console-Guide- Prism-v55:wc-network-
visualization-intro-c.html 

 

QUESTION 2

Refer to the exhibit. 

After performing ESXi to AHV conversion on a cluster, the alerts shown in the exhibit display on Prism. What should the
administrator do to resolve this issue efficiently? 

A. Remove the VMs. create a new Protection Domain, and add VMs to it 

B. Remove VMs from the Protection Domain and add them back in. 

C. Delete the Protection Domain, create a new Protection Domain, and add the VMs to it 

D. Create a new Protection Domain and add the VMs to rt. 
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Correct Answer: B 

 

QUESTION 3

A systems administrator needs to add more VMs to their Nutanix cluster. 

Which two actions should the administrator perform to determine if the current cluster can accommodate the new VMs?
(Choose two.) 

A. Perform an Inventory with Life Cycle Management. 

B. Determine utilization with Cluster Runway. 

C. Enable Deduplication and Erasure Coding. 

D. Utilize Optimize Resources for VM efficiency. 

Correct Answer: BD 

Ref: 

 

QUESTION 4

A customer has Metro Availability configured in Automatic Resume Mode between Site A and Site B What happens to
VMs if Primary Site A has full network failure? 

A. Automatic protection domain promotion in Site B. VMs automatically restart in Site B 

B. VMs continue to run on Site A following an automatic disable of protection domains. 

C. An administrator must unwitness in Site B and promote protection domains in Site B for VMs to restart 

D. An administrator must promote protection domains in Site B for VMs to restart. 

Correct Answer: A 

Explanation: Ref: https://support-portal.nutanix.com/page/documents/details/?targetId=Web-Console-Guide-Prism-
v55:sto- metro-availability-witness-c.html 
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QUESTION 5

An administrator protected a DB VM running on a Nutanix cluster with NearSync Replication, which schedules to repeat
every 15 minutes to a second site. The daily change rate is low. During nightly backups, the replication window is
missed due to write volume. 

Which two options describe the expected behavior? (Choose two.) 

A. NearSync stops working and fails over to the remote site. 

B. Protection Domain transitions back to the hourly schedule. 

C. The Administrator needs to re-enable it manually. 

D. The system continuously tries to get to the NearSync schedule. 

Correct Answer: AD 
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